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I. Multiple Choices (單選題，36 points, with 3 points for each question)
Ch24
1. Suppose the price of gasoline increases rapidly, and that consumers respond by buying a smaller quantity of gasoline. The consumer price index

a. reflects this price increase accurately.

b. understates the price increase due to the so-called income bias.

c. overstates the price increase due to the so-called income bias.

d. overstates the price increase due to the so-called substitution bias.

Ch25
2. Which of the following is a better measure for the standard of living of a nation?

a. nominal GDP.

b. real GNP.

c. real GDP per capita.

d. growth rate of real GNP.

Ch28
3. A firm may pay efficiency wages in an attempt to 

a. reduce incentives to shirk.

b. reduce turnover.

c. attract a well-qualified pool of applicants.

d. All of the above are correct.

Ch29
4. Credit card balances are included in

a. M1 but not M2.

b. M2 but not M1.

c. M1 and M2.

d. neither M1 nor M2.

Ch27
5. Mary talked to several stockbrokers and made the following conclusions. Which, if any, of her conclusions are correct?

a. It is relatively easy to reduce firm-specific risk by increasing the number of companies one holds stock in.

b. Stock prices, even if not exactly a random walk, are very close to it.

c. Some people have made a lot of money in the stock market by using insider information, but these cases are not contrary to the efficient markets hypothesis.

d. All of Mary’s conclusions are correct.

Ch29
6. The Central Bank can increase the money supply by conducting open market

a. sales and raising the discount rate.

b. sales and lowering the discount rate.

c. purchases and raising the discount rate.

d. purchases and lowering the discount rate.

Ch25
7. If there are increasing returns to scale, the production function can be written as

a. xY < A F(xL, xK, xH, xN).

b. xY = A F(xL, xK, xH, xN).

c. xY > A F(xL, xK, xH, xN).

d. Y/L = A F( 1, K/L, H/L, N/L).

Ch23
8. Tyler and Camille both live in Oklahoma. A new-car dealer in Oklahoma bought a new car from the manufacturer for $17,000 and sold it to Tyler for $20,000. Later that year, Tyler sold the car to Camille for $15,000. By how much did these transactions contribute to U.S. GDP for the year?

a. $17,000

b. $20,000

c. $35,000

d. $52,000

Ch27
9. Which of the following is correct concerning a risk-averse person?

a. She would not play games where the probability of winning and losing a dollar are the same.

b. She might not buy health insurance if she thinks her risks are low.

c. Her marginal utility of wealth decreases as her income increases.

d. All of the above are correct.

Ch29
10. If the public decides to hold more currency and fewer deposits in banks, bank reserves

a. decrease and the money supply eventually decreases.

b. decrease but the money supply does not change.

c. increase and the money supply eventually increases.

d. increase but the money supply does not change.
Ch25
11. If a country were to increase its saving rate, then in the long run it would also increase its

a. level of income.

b. growth rate of income.

c. growth rate of productivity.

d. All of the above are correct.

Ch28
12. Which of the following is a cause of frictional unemployment?

a. the minimum wage

b. a worker leaving a job to find one with better benefits

c. labor unions

d. All of the above are correct.

II. 計算題與申論題 (總分：64 分)


(計算題請寫計算過程，只有答案不計分。若公式正確但計算錯誤則部分給分。

分析題請說明、並依題目要求做圖。)
Ch24
1. The nominal monthly wage of a Taiwanese worker in 1981 is 10,680, and the nominal monthly wage in 2007 is 44,100.  The CPI in 1981 is 64 and the one in 2007 is 102.  Please measure the 1981 monthly wage in 2007 dollars.  Does the worker’s purchasing power rise or fall? (10%)

Ch23,Ch26
2. In 2007, Taiwan has consumption of $7480 (billions), investment of $2684, government purchases of $1533, exports of $9119, imports of $8258, taxes of $2130, transfer payments of $880, and depreciation of $300,  please calculate the followings: (Total:12%)

(1) GDP (4%) 

(2) National saving (4%)

(3) Private saving (2%) 

(4) Government deficit (2%)

Ch28
3. In 2007, 18,390 (thousands) of Taiwanese are of the age above 15.  There are 10295 employed, 420 unemployed and 200 discouraged workers.  Please calculate the labor participation rate and the broadly-defined unemployment rate. (8 %)
Ch26,Ch27
4. The annual market interest rate is 5%. The expected inflation rate is 3%. Suppose a company has promised a payment of $10 per share to his shareholders one year from now.  The market price for a share of stock today is $63 and the price is expected to be 56 one year from today.  Please calculate the present value of the stock per share.  Then we can infer that the share of the stock is said to be ______________ (over-valued, fairly-valued, under-valued). (10%)

Ch29
5. Assume that required reserve ratio is 10 percent and that banks hold no excess reserves and households hold no currency.  If Central Bank of Taiwan conducts a $10 million open-market purchase of government bonds, what is the effect on the economy’s monetary base and money supply? What is the money multiplier? (10%)

Ch26
6. Suppose the government borrows $20 billion more next year than this year.

Use a supply-and-demand diagram to analyze this policy. Does the interest rate rise or fall? What happens to investment? To private saving? To public saving? To national saving? Denote the change of each variable in the diagram. (14 %)

